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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen tofill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Uj.» S 20
[Q.1] Questions /=1y A B c D
1. |Inar, nis called: wrE/nota| Radical % | Radicant »#i | Exponent Ve=s| Base
}z [Co-ordinates of origin are: et Lian (1,0) (0,0) ©,1) (1,1)
3. [dUD=7 = u-9 v ) A
4. [Rangeof2,3,6,5,7s: '« 547,5,6,3,2 3 2 5 7
5. [Forx=0iny=2xwehavey=? x=0.Gz tiedlfy 2 y=2x wii- 2 0 4 6
6. |G.Mbetween -3 and —12 is: b3 AUl nd —12 43 +3 +36 +9 16
7 et Y (x=%)=0]  bad? heatdls bosiby iy »le
Y, (x=X)=0 is one of the properties of: G.M AM H.M Mod
8. |Find A°=?,ifU={1,2,3}, A= {1} A°=2JsA=(1)}U={1,2,3L)1 o] {1,3} {1,2} {2,3}
9. |Simplest form of 24:12 is, - Lot 24:12 2:1 12:24 2:5 2:3
10. |Fractional form of 70% is: Y APAS (i1 7 % 179 %
11. |Exposed wealth includes: X -‘LJliu:;)»u’ 76| Gold by Silver  $xl |Cash money 2 | Goats ugf
12. [Types of business partnership are: wrw&j]upfr ¥ 2 3 4 5
13, I ISl oy A By ki
The percentage of mark-up charged is called: Rate Time Interest Principal
14. |Characteristics of 53.764 is: ~e o 53,764, 3 2 i 0
:9?ﬁ;lgfg£&:£47z11{jbg4zzJJ/?J( (j{f'/’bg kf? ‘/'6/' uf}_/
15. The form of a tax which a buyer pays on a manufactured item|  Excise duty Tax Income tax Sales tax
atthe time of purchase is:
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« Section B is compulsory. Attempt any THREE questions from Section C.

SECTION-B /».»

Write short answers to any SIX parts. (6x2=12)

Express decimal as percentage. 0.9

Express tatio in its simpiest form. ) : L
6 10
f a:b="2:3,find the ratio 6a:5b

Define Zakat. Mention muslims who are ordained to pay Zakat?

Calculate Ushr on a wheat crop valued at Rs. 3,50,000 produced
by artificial resources.

A person left a property valued at Rs. 30,00,000. If he had no
child then calculate the value of the share of his wife.

Find the SP, when CP= Rs.760, loss =4%

Find marked price when SP=Rs. 515.20, discount = 8%
Define profit and write down its formula.

Write short answers to any SIX parts. (6x2=12)

Write down the names of two major types of accounts.

What is the difference between direct tax and indirect tax?

1

A computer price is Rs. 34800 inclusive of 16% saias
tax. What is the original price of the computer?

Simplity. 2ab% x3a76%
Evaluate. (32)° +[9° x277']

7
Simplify and write down answer in scientific notation. 92—6%?—
X

Define geometric mean (G.M) and write down its formula.
Find A.M between 4 and 8.

Write down first two terms a, =n+3

Write short answers to any SIX parts. (6x2=12)
Define union of sets, give an example.

State De Morgan's Laws.

If C= {1,2}, then write down the number of binary relations in Cx C.

Define Cartesian Plane.

Represent the given points on a graph whose co-ordinates are given. B (3.2)
Convert 20 °C into °F.

Define geometric mean and write down its formula.

Find the range for the set of data 2,9,3,6,12,18.

For the data set 6,2,4,3,4,5,4,5, find the median.
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Note;- Attempt any THREE questions. Each question carries EIGHT marks (4+4).

5.(a)
(b}

6.(a)

(b)
7.(a)

(b)
8.(a)
(0]

9.(a)

(b)
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A certain journey by a train takes 5 hours ata speed of 45 km/h. What wiil be the speed of the train to complete the same
journey in 3 hours? ;

A sum of money is divided among three persons A, B and C at B e do ST e f10:7:50 LA BHICUE 1l
the ratio 10:7:5 respectively. If “B" gets Rs 14 more than “C” . f'd' J()J ’ J'_ . Pk uf S ,uf
then how much.“A” will get and what is the total sum of money? o F 18 m L s E AN Yoig 18y’ Jgc

Calculate the Zakat on gold of worth Rs.8,00,000, cash Jisowwe,ﬂ;,oo,oooﬁ J:&_.,/B,O0,000:JLJ Ly
Rs.4,00,000 and silver 50 tola (Rs 5000 per tola). dé ; ooy f)‘4( X zr,JSOOO)
Find the compound profit on Rs.600 for 4 years at 6% per annum. -g{r#’évkig w0 f il 8%E L8 4,800
if total income of a person is Rs.700,000 with exempted amount 4-4s1,50,000.,/1 U’M,—UYOO,OOOGJJ F i/
of Rs.1,50,000 then find the tax chargeable @ 4.5%. gr_ccbg‘ybd?grc_b;@'s%;ﬂ_.lg
Prove that. 3log4 +2log5— —;—10g64 = %loglti =2 3log4+2log5s —%10g64 —%logl6 =2zt
£ 8 and 12 are two A.Ms between ‘a’ and ‘b’ then find ‘a’ and ‘b’. chf(}"‘ bust a Junbs3in1258 L bal adi
if A=1{23,57.9},B={13,57}and C= {23456}  FxC= (2,3,4,5,6} 5 B={13,57}A={23,579 fi
then verify that (ANB)NC=AN(BNC) (ANB)AC= Am(Br\C)_zf_f.:fﬁ
Draw the figures with the help of the following points on the - et et b o ey SIS b5t
graph paper. 4(7,2), B(-6,-3), C(5,3) ‘ A(7,2), B(-6,-3), C(5,3)
Find the arithmetic mean from the following values using formula ) éf b i uf s X =4 +Z_12 s
X=4 +—Z—Q ’ =

n

184,191,172,168,137,189,196,186,193,195 184,191,172,168,187,189,196,188,193,195

(a).5

(b)

(a).6

(b)
(a)-7

(b)

(a)-8
(b)

(a)-9
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